EARAROBREBRT —5 XN—ZXBISH—F 202354828 (B) 1EKR1B

11R ZPZAR L XY BRI
[AXE%) 1 & :3,500,000 F ~ 23%&:1,225,000  337%:700,000 4 3#&:455,000 5 i&:245,000 9
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
_— LLIAES S 143, -1-1- . - {EBEEE] (GR)
111111 ==7F2—-0 4 3 o 1(4_3)4 1-1-1-1 | 39.9 1 :1_123) o
R:STU—F4 H:O0-<VITUvY pEbuke
ERIgE 143. -5-5- . - RIESEA] (KR)
] : FIDEE =N "3RS k77 T B =
RN/ VwyF— BN/ LA=— AW (F s
—J¥° _ s 3 | ROB— 1:44.0 4-4-4-4 | 40.2| - 5 490 | EREHSLE (EX%RE)
3189 A /—=/NvO-=)b 54.0 2172 1) Rl
RIPAUAYRA NI 8:R/—U/IN—R F—U— - Iv I\ - T7—LBRR
° S~ s 3 | BEINZIE 1:44.7 9-9-8-8 |39.2| - 9 | 49 |KEBHE KR
4|55 | NILETY 54.0 @) w) |PERS
RPYSANIVE 8:7IR—va COPAE S )
~ 4 3 | HLER 1:45.0 3-3-2-2 |44 — 4 516 | ERE (KR)
5lglg | TVATFUR 56.0 A 3/4) (5 | ) MEZF—T
R:A/—R5IY B:r7ROVL R—ZA-=FVL5BL
5 S i 3 | SRS 1:45.0 6-6-7-7 | 40.4| — 7 | 465 | TFEER KR
6177 | 7¥ERIY 54.0 N (¢) |TEVTEESE ()
R:RAVRATPERTyY B:UNSILIALT AR WREBS
S 4 3 | WAKES 1:45.3 8-8-9-9 [39.9| - 8 432 | ERHEHSLE (EX%RE)
7 6| ArSY—L 56.0 (1 3/4) (-3) |ETE
RiTJUA—Y BLEVU—T A/ E77—L
B3 | AWz 1:45.5 7-7-66 | 40.9| — 6 | 462 |EREHSLE (E%RE)
8 2 | FI S LRD 56.0 (3/4) 1) | dPAsEtE
RDAIYNUTPIFY B:I—T7UAT R
— - 46, 2-3- 8| - EBRE (R
9 3| 914 I4T—L B3 s 1{166)4 2-2-3-5 | 42.8 2 (5+050) e
RFIPITRTVR B:Y—FIRUR WK (=7

@ 1—F—&BIENL

10—7+— 1,3,8,(4,9),7,2,6,5
20—F— 1,3,8,9,4,7,2,6,5
30—7— 1,8,3,9,4,2,7,5,6
43— — 1,(4,8),9,3,2,7,5,6

@ IRE
B B 1 140 | | 94 B 1-4 2403 | | # & 1-4 5003 | | 3:=& 1-4-9 1,570M
& B 1 110M 1-9 290 | | &5 = 1-4 450/ | | 3EE 1-4-9 3,680MH
4 200MH 4-9 870 | | /5 & 1-4 590M
9 2004

ABIC OV TRUTEREERRODDZE. THRIIZEL.




